/M 3  HFE BERFE-RE BEBEEIRDAVI—+ i SH4ENR B
EEEE| EHEFEE | HEFR—BHE ERE| REEIULE (o7 3 £ERE4 RiE W
RS | 1 CIAHI=DEIED B OKY %% EEREFR | BLE-O—MERE e EX
21081 RSB | 16| FETEOMRE BRES %S| ERERRIEE
1. EBEEOBE
(QF =30 QS EENEENE (EHNLZRNE. ERBESEMRICTHT ) QBAIALI=ZEoh\ F (LD, EALHEET)

BEERRL

(

U HRREEMFE

FE~ FE)

ERBEREREHEREENLROLTCEREZITONSISRELZERIIK
EBETHONDEE

HE—BE —HH-V4erH[
FHREDIDD2E—REEFHSDBAE

ERBRAREICKYTIHNESEESEN
BEHOEh TS,

O HEEOH
2. EREFORNR-BE-EE-RIEE
D3t G FAEFRIZLTLSDH) @t R IE1Z HE\RS| 1 EE| 2 £ 3 EE| 4 £ 5 £F
. ; Al 2750 2,650 2,600 2,650 2,650
7 |ERBIRRE 7 |RHEEOERBREER(EER) | A Sl 5700 2670 2,649 | | e
. . 3 10 10 10 10 10
1 |mmELmrRE S| 1 |wmeLmmns N i S W O S
Y 6 12 7| e e
“ N i A S R N——
| I T T o
BE (HREEDLSREICLIL DY) OB RIEE (ERIDERE) BulRaS 1 EE 25E 3EE 45F 5 5E
B 8 10 10
7 |HEROAEEERTS —| 7 |—HEZHRGH % (=& 6 12 7
x| 75.0% | 1200% | 70.0%
B
A el S
ERE
B
7 el ) S
ERE
QFFEANA ®©FEEE HERD 15E 25E 3£ 45E 55E
Bl 10 10 10
7 |—HE0XiE — | 7 [—HEXHBEHR (=& 7 13 7
x| 700% | 130.0% | 70.0%
BiZ
4 =l S
BiZ
2 —| 2 S
3. ERBEOFH-OXMIE
FERE ES IR 102 H {03 B P02 [xmx[vEx TELEDEZ% EERE
szmmmmensame| RIRIGTE |HEBRHE| HEFR—H2 01 ] of HEBR—BE 21081
FH 1 FE| 2 £E| 3 £E| 4 £ 5 FE| arep RE 1 FE| 2 £E| 3 £E| 4 % I
(FA) | =4 e =R RiA A (FA) | £ EE ES A Ria
EEZHE EELHE
BXise BEXiE
BT & BT &
Zoitsst| 2,016 3,920 2,800 2,800 2,800 | -1,120 |z oit4s8t| 1,680 3,080 1,960 2,800 2,800 | -1,120
—RREAR| 1,347 1,963 1,403 1,403 1,403 -560 | —f&B4IR 841 1,542 981 1,403 1,403 -561
&t 3,363 5,883 4,203 4,203 4203 | -1,680 | AFHA) 2,521 4,622 2,941 4,203 4203 | -1681
HEBR—BEERASE REERE AR 1 1 1 1 1
EAEFEEFSEFME 5 5 5 5 5
iR 4 #h -
ANEEEH(FH)B) 18 17 17 17 17 0
BRTEHE 4203 FH %%§M-‘r$| 69.9% F—4%)La R MA+B) 2,539 4,639 2,958 4,220 4220 | -1,681
BIEEHMERURME 4200 FH BHESHEMERURTE 2940 +H
& FHH 3 FM * i FHH 1 FM
THEERAR FHEEAR
(¥ &) (R &)




